1+ 2+ 2%+ 244+ =590 LM mt0 =10 nef1,,3,...)
Ont2-qn =3
§n:omlkh-1 o= e = g0 0142 =03 =3
-1 Lo 03 -91=3
0st2d-0q9 =3
0qg =2 §10 = 1(2"-1) 20 = 3
r=1 155 = 2"-1 =3 —@
256 = 2N :
n =28 Qe+02= 10 \fn=%llﬂl+(h~nd,
Qy+az+d <10
2qtd =10 $40220(8.5+58.5)
Vod0s  Shz Gal1-¢")  ANENMTIGA 24t =10 = 20 (67
’ 1-r - = 1240
0y 1)
Gy + 0+ + 000 = fo0 = 0000-r¥) = - ‘

-

0 01-r2% = 13-Br —0)

L dsnndavwiow = -r
G4~02103-Q4+...+ Qag=0Q20 = 17

5. a9 annn. (3,51 Minwionusin

0 0-n®l =1 Tuwnm y

1~ [-¥) Fi(3, 5441 =F (3,40)

Fy 1391) .

Uy (1-¢20) =17 ﬂ.iuuﬁwnnﬁe&mqm Fa(300) Qg (045)

14\ =5 =t

-0 3
G U=r¥ = 1742 —0@) iinaeanienvien  (045) ¥a.du o
Y5 = 4Lx-0) J
129 N+11¢ = B-Nv 3
¢ <-2 4X-3Y+15 20
1§
L= la1-3(11+15] = 28
et 3
o™ L g™
1210 121- 10
= (100" - wRdwd 4 2
10 "0
T pRAWS+ 1.1 = waawd + 1)
10 129 1210

W 121



PmamionN 1 39805,693F 2 0%

8. nLANB) = X
2 (nla) = x — h(A) = 4X
100
NS n(B)r=Xx — n(B) = §x

100

nia-81u(B-A1] = 120
Cniar-ncang)) *(hr-ntans) =120
AX-X +8Xx-x = 0%
a0 x = 420
X a2 M

N(AUB) = n(A)Y +NKI(B) = N(ANR)
= 4K tEX-X
= X
= N2 AW
1. x109s X _ o
x3

xl
logs x'®97 = 1ggs (25
X3

( 1ogsx2)(l0gsx) = logs2s - logs X *

(21095 x 11109sx ) = 2 - 31695 X

d4= 1095 X 202+39-2 = 0
(20-1)(0+2) = O
Q=21 ,-
2972
|0 £X =1 ,"2
9 L9

~ ad
N \@925 3 uwﬁ;wg

10.

2.

. fx) =0
K(xXt4)(x-2)=0

flX) = K(x+4)1(x-21

Fr0) =16
= k(a10-2)

146

k=2

AMa w492
ook Wamed

fix) = =2 (x+d4 )(x~2»

mq,s qq\

!

Is

2 (X% +2%-81
~2X% —4x¥+16

= Q0C-b% = 4()(96)-(-42 =18
4Q

4(-2

NN UM NUAI YN 1
t = flt+hi-f+) 4 hao

"l

4

h

-8 h20

(; h+  +1

= 1 [ 8++8—8f—2h—8] h30
(1+ht+1)(++))

n

!

—

(Fthvn)(+1

= 8

(+H) [+

-2

16

h30

= =1 g/ wN
2

N¥ 100 VAN Y 140 N
N 800 W NIy 140X 800 = 1120

AINIY
§ 1A Y

50
1120

100

§1Meig 100

AMGB 00 x 120
cv

=240 vin



13.

14.

18.

16.

8.

A

ﬁabgm%o\i’ﬂ%ﬁ Nt1 = 4041 = 90.5 —> @FeNMI L0 W 29
§ 2 =  62+60 = §9
2
1 3
Az {g,{8},0,{0}} UL N [A- AN X(P(AY~A) — 13
Plal
niay = 4
nippy = 24 = 1§
V {d,{91,{0}}

dqwoaq{’mm §+4748= 21 an

vanvoad

AfglInuYvle 21 vy

ads 1 QOute 10 oy

\
18 1%t vo e e =21x20

W1 2 an

WU e

8 N

vV o N
AdIN 2 LRI 7 BV

VO IMIMBUY X LY

VMU NINNE 99 bhVY
691 qLby3by 469 Sbqbby20y86406- 10 UV

s (On

uan uuey

6 vUwuangy

£ 0% o

s‘u’:muv{’n‘\%
o{'m'u ¥ 914

KRR

ANAW KU & v
w6 I

o

> B
99

ne o 24X

V)
v

TN A% IV v 4 I

N
Y

)
2¢ v 1@ 9 24 WY

609 62964 68 3  4bbUY

whe

WYY

Y6

g X
g X

X WwWY

o!vesw 6x W%y

24K- 6% 7 A% VWY

v ol fY 6
NNTTE b
18X

hEHI I YNHIHND 16 X

d
w
XEX Y 3 i

d
beND gX

ANy = §x7

21X20

=2
15



